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AF AS 78. 6%,
i I Xi - YI ,
1 0.021 0. 029
2 0. 035 0. 020 !
3 - 0.046 - 0.044 , HNa,
4 0. 001 0. 008
5 0. 044 0.026 N=HNAQr QF )
6 - 0.029 - 0.019 ’
7 - 0.026 - 0.010
8 - 0.029 - 0.007 , ,
9 0. 048 0.043
10 - 0.006 0.011 '
11 - 0.036 - 0.036 )
12 - 0.011 - 0.018
13 0.019 0. 009
14 - 0.027 - 0.032
15 0. 029 0.023
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XXi= - 0.013 = 0.0138 , , ,
B . 2.John Hull, Introduction To FuturesA nd OptionsM arkets, U ni-
Zvi= - 0.019 = 0.0097 versity 05 Toronto, 1991
2XiYi= 0.0108 3.John C. Hull, Options, Futures, and other D erivative Securities,
PrenticeHall, Inc, 1989
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